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41 RozloZte na soucin podle vzorce:
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42  Zjednoduste (vysledny vyraz nesmi obsahovat zavorky):
5 _
1 ) :
m;:j;?gd“n..mﬁ‘n:\ - x j/: ( | %l/f: )<" :_‘
o \& ‘?_)L_Df 0.2
o - Zaf+ b - & - b (& - B
& -8 —jg+&)l-{g-h)
4.3

Zjednoduste (vysledny vyraz nesmi obsahovat zavorky):

(n~3) — - Can~3) (TR~ 24} 3w g2 g0y o
V)

=L 4 e g, —ofn

———"]
o . | . - . - - 2 ]

_— | " | =l e [
(PRSI CFEE R TCRERE IR TR R L A IPRERETR

S T il |
R S [T

(o= 1) [+ D= 42 | 4 B =G |1t T
I \l' TP 1 A .-LE


https://ziteboard.com

